EARAROBEEIERT — 2 N— IBISH —F

20129F3A8H (AK) 26 EZHE4H

VWA HIKIBZS N — X (524 C8 HoZ—i (xwlw | lmEmml - v @) o s
[AE4£] 1% :130,000 ™ ~ 2#%:26,000”  3#%&:13,000”  4%&:0MH / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=10 = s 4 | AEBR 1:30.2 2-2-2-2 [38.9| — 1 406 | ABED (BHE)
1zl 712777971 — 54.0 =) 5 | W TAFY
Z:Nd B:avteq b IV NEARIS
. 4 o5 | FERRA 1:30.3 3-3-3-3 |38.9| — 2 479 | ETB—A (BEHE)
2|8|9 1LY~ 6.0 (172) o |EEET
RNFGHEART )= BiERYITAIFTIN FhHh)Tr—1h
- > 5 | KEKAEB 1:30.7 4-4-4-4 [ 39.2| — 6 501 | EThEIA (BEHE)
3[1|1|AF=71t 77 560 D) o | W Tr-ZbEVa>
L:F25 40 B:gNY #iE  JEAA
# 5 | AEHE 1:31.3 5-4-5-5 |39.6| — 10 | 460 |/IIWB3AE (S£44)
4|5|5|FAZ—IAL 56.0 @ G | ) H-zr7
R:vY I by THY BN T—gRER it s
. N thi ) :31. —6-6- . — BriE—5 (Z4E)
5 o | PXTOOH 5 R 1(311)5 7-6-6-6 | 39.1 3 (4_636) B
L:7A7% B:70LE3CF EEPNES e
2 4t 5 | DEEFIAE 1:31.6 6-6-6-7 |39.0| — 8 419 | FEHES (BHE)
618(10 '771'—9—7 |/—7u 54.0 (3/4) -3) AR —
R:ZRXp2—YI—IWK B:TATAEATH J—ZF—F>
\ - pmm——— a1, o1 5| - RE (2EE)
7 4| TTV L=\ s ;.0 1(73::; 11t ] 405 5 ?_320) *‘;&Amuf;
x4 xNFT B.ITILHhT— SO ¥/3
= # 7 | ALE— 1:32.2 8-8-8-8 [39.0| — 4 450 | BTIBE—S (BEE)
3 6| FUZ420F ~52.0 2 1/2) @) |BTEF
R:aAF KXIIX R BiveFrol FH)Tr—L
MK : -10-10- — WilE— (BHE)
9 3| HT77ULy b B4 ar (19.345.;) 10-10-10-10| 41.0 9 <3+716) @%g,\
RixALI=ZTr—R BN TAN— LZHITy7—L
— e 4 7 | RERZ 1:36.3 9-8-8-9 |43.0| — 7 480 | TTOBEFI (BEHE)
100 8| TXZNVET =~ 254.0 ®) (g |MREHE
/TR BIATIVREAH YO
® 1—F—@EBIERL
1T=7r= 4,7,9,1,5,10,2,6,8,3
23 =3"= 4,7,9,(1,5),(2,10), (6,8) ,3
Jol=5r= 4,7,9,1,5,(2,10),(6,8),3
43—+ — 4,7,9,1,5,2,10,6,8,3
[ N5
B 7 180M 7 3 7-8 120H 3EE 1-7-9 1,130
B B 7 1004 e B 7-8 170H EH 7-9-1 1,940/
9 120 B & 7-9 130H
1 330F B H 7-9 220M

ABICOVWTRDTEEERROODE. TR LIV,




